class BXTree: public BinaryTree<Token>

{


public:


void build(list<Token> l);


double evaluate();

};

· Sample output

· calc

· + * + - / 1 2 4 * 3 2 + 4 5 + 6 / + 3 3 3 =

· 30.5

· Main program

· parse(in, l)

· b.Build(l)

· cout << b.Evaluate()

· Parse void parse(ifstream& in, queue<Token> & l);

· read first tok

· while tok != “=“

· add tok to the end of the list

· read next tok

void BXTree::build(queue<Token> l)

{

build(root, l);

}

void BXTree::build(BinaryTreeNode<Token>*& t, queue<Token> &l)

{


if(!l.empty())


{


t = new BinaryTreeNode<Token>;


t->data = l.front(); l.pop();


if (t->data.IsOperator())

{



build(t->leftchild,l);



build right subtree

}

}

}

